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1. Let P, denote the partition of the interval [0, 1] into n subintervals of equal length
Az = 1/n. For a given function f(z) = 3 — 2z defined on [0, 1]

_ (a) Calculate L(f, F,) .
) =3-2x e gh] Pazlod, L, -2t 0]

\V.V, \\qu f

L(E )54 (3-2013-2.4 33224 13- 2{2_))

(:')ﬂ 2 (C’)-}-a\-% +..,_\+_____ ))

2n4 A

(b) Ca.lculat.eU(P) \ 'L ; - IR A
V(L) =4 (a-—z-——-+3 i N, X 9_3(_\_
\____,/ s B .

1
=N (5’\—-1-(—%;-*—7-,-\-4,-”1_ a ))
N

L (.2 B
(¢) Show that lim L({f,P,) = lim U(f, P,). What is f(3 = 2z)dx ?
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2. (a) Sketch and find the area of the plane region bounded by the curves
z=y'andz=22-y-2.
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(b) Evaluate the integral. [r*cos(z?)dz
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3. Evaluate the integral.

3
+1
a') f 12+7:1:+:r

T i e

'LX+5 o b SIXES
XAIXeNL e (x43)

31X+ 35S
G Tev L — B)X*3A+q&
() (X33) X4 .

Xlﬂ-:}x”l

Ard = 33
? 3 3A-t-¢18=85 ':"'-">A‘=63/ B—;_.Zg

bo\\/ we€ \f\av&

s X
= l—?:----')')<+63ln\X+‘\)-2_€lmlx+?)’-\-Q

T

dx
() S (et PA Let 2ot

le :QSECL&QIJ
= S ..PLSE(}& . cl& - BQ sect 4 d
(Q&d‘\’hﬂ 3’)3‘0. 03 039

-_5_-—5 By o A
=T L )™ &_&yn&\'cz‘"—f—-——«_{.c’

& Jotk i

X

ey
4
o




4. Evaluate the given integral or show that it diverges.
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